

13/10

Ασκηση

$$\begin{array}{l|l|l}
 3x - 9 = 0 & 5x + 10 = 0 & 2x - 6 = 5x + 12 \\
 3x = 9 & 5x = -10 & 2x - 5x = +6 + 12 \\
 \frac{3x}{3} = \frac{9}{3} & \frac{5x}{5} = \frac{-10}{5} & -3x = 18 \\
 x = 3 & x = -2 & \frac{-3x}{-3} = \frac{18}{-3} \\
 & & x = -6
 \end{array}$$

$$\begin{array}{l|l}
 \overset{\pi x}{5(-w+2)} - 4 = 6 - 5w & \overset{\pi x}{3(x+2)} - 3 = 3x + 5 \\
 -5w + 10 - 4 = 6 - 5w & \underline{3x} + 6 - 3 = \underline{3x} + 5 \\
 -5w + 5w = -10 + 4 + 6 & 3x - 3x = -6 + 3 + 5 \\
 0w = 0 \text{ αόριστη} & 0x = 2 \text{ αδύνατη}
 \end{array}$$

Hw Ασκ 1α, β σελ 88